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QUESTION 1

If Amazon Glacier is used for cloud storage, which default deduplication mode will the Whitewater appliance use? 

A. Deduplicate against cloud and local contents. 

B. Deduplicate against cloud contents only. 

C. Deduplicate against local contents only. 

Correct Answer: C 

 

QUESTION 2

If a Backup Exec server is going to maximize throughput to a physical Whitewater appliance, how many backup to disk
folders (or storage targets) should be created on Backup Exec server? 

A. 1 

B. 2 

C. 3 

D. 4 

E. 5 

F. 6 

Correct Answer: D 

 

QUESTION 3

Configuring MPIO allows a storage array to: 

A. Process block storage faster. 

B. Have multiple protocol access. 

C. Have redundant paths 

D. Fix the IO block length to a certain size. 

E. Use 9K MTU\\'s. 

Correct Answer: C 

 

QUESTION 4
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Which encryption in flight does Whitewater appliance directly support? 

A. SSLv1 

B. TLS 

C. RC3 

D. SSLv3 

E. IPSec 

Correct Answer: D 

 

QUESTION 5

-- Exhibit -- Exhibit -Refer to the exhibit. Customer is attempting to implement the following Granite Design, but for some
reason the Windows Server in the Branch never manages to discover a LUN. Which of the following Granite
configuration steps that they implemented would cause the problem? (Assume the basic networking is correct) 

Step A. Granite Edge is configured to add the Granite Core. Step B. Granite Core discovers Granite Edge and ISCSI
SAN. Step C. ISCSI San Administrator maps LUN to Granite Core. Step D. Granite Core discovers LUN and projects it
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to Granite Edge. Step E. Granite Edge maps LUN to iqn.1998- 01.com.vmware:Windows_Server. Step F. Windows
Server connects to 172.1.1.1 via ISCSI client. 

A. Step A 

B. Step B 

C. Step C 

D. Step D 

E. Step E 

F. Step F 

Correct Answer: E 
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